mEwme NMEERR Y-EAESFAN—E

1.NMEERRY—-E2E BXHR(EARIE)

m -5 - B - PRt - BE - E R - MR- HUONEFESD

2025.8.13%

X BIREOATILTI0OEATHELTEDET,

Zh= =
B
R = ZE = ZE "=
BZNE1L 805 H 24,150 M 694 A | 20,820 A |BNEREDFERCLD
ENE2 914 M 27,420 M 804 H | 24,120 M &
BENES3 1,148 [ 34,4401 | 1,039 8 | 31,170 { =
ENE4 1,248 M 37,440 M | 1,138 1 | 34,140 M &
BENES 1,338 [ 40,140 M | 1,128 M | 33,840 H =
2 BERVERE <EBEROPEEE C30E CHBELTHNET.
e
EE BH ZH= E=
=6 R =6 R =6 R
EAES P RGN AHPIBOANNBRIETEOS 1,850 A 55,500 M 437 M | 13,110 M1 | 1,728 M | 51,840 M
EIREQ FEUWNA120RHBOAS 1,360 [ 40,800 M 430 M | 12,900 1 | 1,370 H | 41,100 M
FEI3EMED FEUWASOHHULEI20FEUTOS 650 M 19,500 H 430 M4 | 12,900 1 | 1,370 H | 41,100 H
ORI = N T p
52 ES P ASHI80B LT DS 390 M 11,700 H 430 M | 12,900 M 550 FH | 16,500
551 ESPE HRREEZIITVDA 300 M 9,000 M 0M 0M 550 FH | 16,500 4
3. ENE -
= = EE "=
TENE 30 M| 900 M | FUEBNSEELTI0E AR
PN 250 [ |2Es e ED T B TR
T NEREDNEEA OSSN FREOEA-
H C R SIRRE I 1 2 m[ es0m | e
TS 20 M| 600 M |Ba e s EREN TS EA
PR EE 6 B 180 A |EBELNErTEA
e AFE 208, BERERU EREN 1B
RESEEEENEN 7 H 210 M ORBELIIES
e (1) 123 N e s
B2k (1) @) 86 M
B \C R CE 35 [
. . AFER535 B PIDHAR. 20 2 EDEREY
o H| | | —3,3Y
BEREHYUN\EYF—23> 240 H F BRI 3ELL E EHEL R A
- N NERREANS + 1 ERRINER S A03.9%, N EREOEREL
A S i : ;
R LA SR [CEECEAL TVBHEEN. APTECHUY—E 2 AT1BE
EOINBIEEL . BRI SR RHBIE A
ECYESNE T 400 3 | B, EHT. BIESELEREEALSREAT. &
CIC S B R R BIRE DS E R AR
= [ZBRELTOT. RRORERUAES. E6. &
SO INE T
RIS 1008 | s mnoniss
N =Sty v 3 — L=y 18 \ \ 7o
BRI
PR (1) CZCOREE B R SEaN
g R I
OFEEEEEMNE (1) 110 M Egjbr:i%é\ |
— o ggggfo)ﬁxmm REREERLIBA0IE
= BEE I B BN RS C = 5L AT BT
RSB (I
Ems (D 10 | i srimaTorgacEE
BreoSIEnE (1) 5/
BREOSIENE () 20
B S EENE 280 @ | AR BRI OEE - Ba HE
BRSO NRICE 1/ I e
FRANEIRSEE ] 6 M e EENE RS
FRNEEEEET 10/
21 RRSBIERE(EH) AL A
BE = ZF =
o NE BE (MUE 1,650 [ 49,500 3
EEENYRPIE EE (ML) 2,200 H 66,000 H
Ea o2 BEE (R ML) 6.600 F] 198,000 F
- . AT OB LB BT 5L - s B
Y B ENEN T ==‘ . . N
CStJh(gnfﬁﬁ(ﬁ)lj/thﬂﬂfe)J[l)\) 495 H 14,850 H HITL AT REVERG 3 —E 2T,
22 RRSIBENE(ZOMm) L FHL)
BE T == =
TR (k- B LT v ETE | 1D 280 F
R (. LB 0. JSriB0 LT E) 15 170 /3
RN (N . FERR0) 158 110 3

1/1




